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Time : 2:00 Hrs. Max. Marks : 35

Note :— This paper is of Thirty Five (35) marks divided
into Two (02) Sections ‘A’ and ‘B’. Attempt the
questions contained in these Sections according to
the detailed instructions given therein. Candidates
should limit their answers to the questions on the
given answer sheet. No additional (B) answer

sheet will be issued.
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Section-A
(@)
Long Answer Type Questions
(&rd ST W) 2%x9%=19

Note :— Section ‘A’ contains Five (05) Long-answer
type questions of Nine and Half (9%2) marks each.
Learners are required to answer any two (02)
questions only.

e — wus ‘%' § ur= (05) < ST wRA K3 T €, ude
T & foru @rg i (%) ok fuifia €1 ferenfemi =
T8 9 haat ar (02) Wi & SW A & |

1. (a) Discuss the preparation and properties of
Grignard reagent.
firme sfemdsr & frafon fafesi oie o o ==
SHIFST |
(b) What happens when methyl magnesium bromide

is reacted with :
(i) CO,
(i) HCOOC,Hg
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(iii) CH4CHO
(iv) C,H;OH
F B § w@ fHuma T dEe & Wy
gfafshan =1 St €
(i) Co,
(i) HCOOC,H;
(iii) CH4CHO
(iv) C,H;OH

2. (8 What you understand by Vitamins’ ? Give the
classification of vitamins.
faerfi & o1 =0 wwe § 2 faafii = ety
EHISH

(b) Define the amphoteric behaviour of amino

acids.
A TS & IYTER HAER ! IR hifea |

3. What are terpenoids ? How are they classified ? How
are these extracted ? Write a short note on their

chemical nature.
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AT F § 7 IR A0 hY R S ¥ 2 3R
&Y T ST § 2 SR TEEe Wohfd W Tk Gfera
feoquft ferfe |
4. (a) What is witts theory of colour and constitution ?
1 3R G @ foru foreq 1 Fagr 1 % 2
(b) How will you prepare the following ?
(i) Phenolphthalein
(i)  Fluorescein
(i1i)) Methyl orange
st fr=fafea 8 @R w4 2

(i) ACHRATEA
(i) wIRREA
(iii) femea sies

5. Whats are detergents ? How do they differ form soap ?
Characterize the structural feature necessary to make
a good detergents ?
feflcmE 2 I A TUHfFAUIR = € 2 T
3131 feeste I & faU sTewes ST foRTemn 1
U RIS |
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Section-B
(Tvs-w)
Short Answer Type Questions
(g I U9H) 4x4=16

Note :— Section ‘B’ contains Eight (08) Short-answer
type questions of Four (04) marks each. Learners
are required to answer any four (04) questions

only.

e — @us ‘@' H 3e (08) 7Y ST UA A 1 ¥, v
9 & T =R (04) o7 freifta & 1 frenfat o s
Y Haet IR (04) ¥l & W <A T

1. Writfe brief notes on the following :
(i) Chemical shift
(i) Spin-spin coupling
(11i) Coupling constant
frefafea w Gfya feafmt fafex
(i) TEER e
(i) ToA-feas g
(i) FA e
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2. Explain the Bischler Napieralski synthesis of

Isoquinoline with mechanism.

AR Ife & foeer Afrueten! Tyarsu & fharfafy
Hfgd IHET

3. Explain Kiliani-Fisher synthesis and Ruffs degradation.

ferferam-freR Tyctvur 3R TF & &R0 &l &A1 T |

4. What is the Indigo dye ? How synthesis the indigo
dye.

sfetil =t o ¢ ? et S 1 Heeluv %d gar e ?
5. Write explanatory notes on the following :

(i)  Saponification value

(i1) Hardening of oils

Frefafed sarearers feuuft fafe .

(i) AR A

(i) de 1 F& e W
6. Attempt any two of the following :

(1) Messenger RNA

(i) Replication of DNA

(ii1)) Mutarotation
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frafafea & 9 <5 & 994 & SWw Sife

(i) FISR RNA
(i) ST =t gfasfa (gredae)
(iii) aftadt gaor =

7. Give suitable reasons for the following :
(i)  Pyridine is more basic than pyrrole.
(i)  Thiophene is more aromatic in nature than furan.
fr=fafed & fau 3ug® &R ST
() S, wEe ¥ efus i ¥

(i) TriRee REE &t o | YHfa # sifye Wifesw
T

8. Complete the following reactions :
(i) CgHN+3H, —
(i) CHiCH,l +KSH —

(iii) CH,OH(CHOH),CHO + HCN —

/
(iv) \0 + NHy —
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frefafea sifafswansti =1 9 Hifve -
() CgHsN+3H, —
(i) CHsCH,l +KSH —>

(iii) CH,OH(CHOH),CHO + HCN —

/

(iv) O + NH, ——
=
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